1298

300

998

60

1700

1700

710

<+

600

390

<+

-+

-+

390

600

710

110

= T
AN
= = =]
o % N
3 3
0.11 Pokoj 2 0.10 Pokgj 1
12,21m? 12,40m? 0.04 Salon z jadalnig
05m? —
‘ ine
(C———9) 8
11T D 3 > b ___ N
————r = === —— — 1
1] I I I
N|179 L ol643 =T 1) I I
.09 Lazienka 2" @ [T =) ' ' o
‘][5 356m’ =\ 8
L 0.9p\Bpizarni [
0.03K 48m? i 0|0
. owgarz g 0.05 Kucgnla
) 0.07 Laziegkm 12,92m’ ,00m
% o] 242334 206 9% 300
0.08 Sypialnia E il D @J i
11,7y1n§ﬂ —
o
N
1%} s%szarka pralka T
win
I
2 0.02 Pom. techn. 0.01 Wiatrotap &
= - 5,15m 4,21m? - S
366 3 296 » 242 . 316 -
¥ S 14 .
P = 2
8 8%
1310 390

390

X

pralka suszar+a

0.01 Wiatrotap

<
D 0.02 Pom. techn. &
4,21m 5,15m*
242 . 296 (

99 ]
- — —
D
o™ «©
«©
[sp]
0.10 Pokj 1 0.11 Pokoj 2
0.04 Salon z jadalnig 12,40m2 12,21m2
27,05m?
o
7777777777 ©
P o
(E*:; ? 6438 o 17?:“
I==£_ DES . azienka 3
asert (|| |1
ia —
0.03 Korytarz
12,92m? 0.07 tazienkat
206 334 042 o
D 0.08 Sypialnia
L@ — E 11,71n§

< 320 [~
g

, g 366
e \Ls ,,,\/L,,
—— ]

S8 e

1310

1700

+

*

+

1700

998

300

1298




